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- F & f9dwia = (4, 7)

CF 1 ol = (-1 — 4)2 + (2 - 7)2
=\/25+25=+/50=5V2

37d: AfeAshTel i g 17,417, 542 B

13. fo=gati (3, - 4) @2n (1, 2) @ fEeA 9 @@ B
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1. gfe sinAzi—z,Fl'a' cos A &1 qH 3 PifsTe]

12 o=
13  <hof
o =12, H0F =13
C

&l ﬁ'&ﬂ%, sin A =

Fof=13
=12
B A
AABCH, /B=90°
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= AB? =25
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B C
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sec A= T 17 15. TfE 3 tan A = 4, 79 Rig DS
T 8 (@) |secA-cosecA 1
o cosec A_ﬂ 17 sec A+cosec A 47
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Eﬁﬁm‘%, tanezé:E
3 ER
S T =4, IR =3
TR 5 4,
(v )? = (T)? + (THR)*
= FH = /(4)* + (3)*
16+ 9=+125 =5
sin@—@—é
%0 5
IR 3
qen cosf=—-—=—
F 5
4 3
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o a\

AMER
LRI cos 0 =
w41
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TRATIRE 5T ¥,
(e (o

(47 +(3)°

sin 6 tan 6 (1 + cot 0) 1
sin O + cos 6

16. Of¢ /3 sin 0 =cos0, ad

M 3 BTl
B fon €, V3 sin 0 =cos 0
N sine_i
cos® /3



Prfifa &1 ke

79
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= tan 0 =—
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= sin(£ PRQ) = sin 30°
= Z PRQ@ = 30°

SIae 8.3

1. (cosec? 0 — 1) tan® 0 BT AH 3 DIfTEI
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cos 0(1 —sin 0)
2. fag Fifswe fs MZCOSGCA+CO‘3A =—
1-cos cos” 0
1—Sin6 <
i = BRI
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1-cos A -
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1+sinb
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_sin26+cosze+251necose—1

sin 0 cos 0
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